SOLUTION

Slovenian SOLUTION and explanation

1. (a) Dvojcka pravita: “Mi delava domaco nalogo”.
(b) Agnes in Gregor delata domaco nalogo.
(c) Vcasih, Agnes in Gregor hodita v Solo.
(d) V¢asih, dvojcka in delajo domaco nalogo.
2. (a) The triplets do the homework.

(b) Two wolves walk in the woods.

3. Translate the following into Slovenian:

(a) Trojcki hodijo v gozdu.

(b) Dvojcka hodita v gozdu.

(c) Darija hodi v gozdu

(d) Stiri volkovi hodijo v gozdu.

|II

Slovenian distinguishes “dual” and “plural”, for two or more than two
respectively. The verb endings are as follows:

singular dual plural
1st person “we” (not shown) | -va -mo
3rd person “he”, “she”, “they” | (stem only) -ta -jo

Similarly, nouns have different endings

for dual “-a” (dvojcka twins)
and
plural “-i” (troj¢ki - triplets)



